
ST 332 . 3 1 7



"1 Rl Rz b3 R3 b, R4

3 8.5 4 13.0 7 23.0

6 19.5 5 16.0 8 26.0

3 x.5 4 13.0 7 23.0

3 8.5 3 8.5 6 19.5

1 1.0 2 3.5 5 lb.0

2 3.5 3 8.5 6 19.5

2 3.5 4 13.5 5 16.0

2 3.5 3 8.5 6 19.5

C=56.5 X=84.0 L162.5

CXr. = 56.5 + 84.0 + 162.5 + 225.0
j i l3

check : N(N + 1)/2 = 32(32 + 1)/2

7 23.0

8 2b.0

Y 28.5

8 2b.0

10 30.5

10 30.5

Y 2X.5

1 1 32.0

1=225-o

r2 528.0

= 528.0

H =

12= [(56.5J2  + (84-O)*  +~--
32(32 + 1) 8 8

(162.5J2  + (225.0)2i
8 8

- 3(32 + 1) = 25.31

c = l- t3 - t)

N3 - N 1
2(23-2)  + 4(33-3)  + 2(43-4) + (63- 6)= l-

I
=

323
-99

- 32

H' = H/C = 25.37/.99  = 25.63*
2

x 05,3  =
7.82
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bl RI “4 R4

6.0 7 9.0

8.0 4 8 10.5

6.0 9 12.5

6.0 8 10.5

1.0 10 14.5

3.0 10 14.5

3.0 9 12.5

c =  3 6 . 0 C=lOO.O

k n
C h e c k  :

’ ’ Rij
= N(N + 1)/2  = 136

1 1
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2C.05)
a' = - - = -025

comparison

b, versus b,

b, versus b,

b, versus b,

h, versus b,

b, versus b,

b, versus b,

r ci

.OOY

.013

.013

.025

,025

,025 I
U or U’

0

3.5

*  0

17.0

3.0

1.0

obtained

probability

,001

.OOl

.OOl

,065

,001

,001

Decision

Reject Ho

Reject Ho

Reject Ho

do not Reject Ho

Reject Ho

Reject Ho
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12 1 CCC  Rii)‘l 3(k + 1)
>

n'k(k? - 1) k - l

12( 9.52 + 14.52 +...+ 31.0 2 1 - 3(4 + 1) = -90

8*.4(4' - 1) 4 - l

3 2 1
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3.5 7(7 + 1)-
4=

7(7 + l!(2)(7)  + 1)
24

3.5 - 14.0 -10.5=

J7 = 5.9=

-1.78

'.025 =
1.96

ST 332 323


